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BIOLOGY
L 3 8NS s e eI deso 4. 200D STOIG D3N, IVAPTOT

LoT Boemns B0sde3%53%S 2 DNA 30%3s ¥eirron esoeg sda
(A) aForogst

%m AT wried a::r.v:.:sl.':;w\:ia.gt
(B) ot

Xor, HXoZT. 83 FINS cdns REOCID
©) =0

Q0BT DY R FHODBZ, ?
(D) #Beers

(A) dos) OF Bearisd

2. TFpemocdeetr wesSBeesnvd DNA
T,80eDT 3,00030 QBT IT/HCOAOT

332, JoRIResZa 2 (C) wsF Soeasorisd
(A) aovorfed* mﬁqp‘ :

(B) sorIdexar 80"
(C) dnre P, 80°

(D) kniapaﬁﬁuu' 5. wod m-RNA o9od d::;!s oXycle
Qeond BogeSnoRDS tid) 900 TTNER)
TeodB. OT030E  XoWPFEY, S

(B) sono dee3

(D) QecHr s RO

3. SIS Jodwd odeexd (HGP)
s3eD DoZb IS VmEDTY,

30,000 ToZLnd BRCWBBOTD m-RNA o o eHde uspnd)
AT FoZolrie Joss, S ?
(A) 242 SoZmobnsd (A) 299
(B) 2898 Sogmolonish (B) 450
(C) 2968 SoTmoborich (C) 900
(D) 231 SoZsbnish (D) 300
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BIOLOGY

Which of the following amino acids is 4. In a crime investigation, the
coded by Single Codon ? investigating officer collects different
(A) Phenylalanine biological samples from the crime
(B).. Trypophen spot for DNA Finger - Printing Analysis.
(C) Valine 4 . :
Which of the following samples is not
(D) Tyrosine -
helpful in this analysis ?
In Prokaryotes, the transcription of (A) Erythrocytes
DNA is initiated with the help of (B) Hair Follicle
(A) Elongation factor
(B) Termination factor (C) Skin Shreds
(C)  Rho factor (D) Semen Sample
(D) Sigma factor
According to Human Genome Project 5. A mature mRNA consists of 900 bases
(HGP), the total number of genes in without any stop codon in between.
h e is catimaied at 30,000, Calculate the number of amino acids
coded by this mRNA during
the number of genes present on P
translation.
Y-chromosome are
(A) 299
(A) 242 genes
(B) 2898 genes (BA4N
(C) 2968 genes (€) 900
(D) 231 genes (D) 300
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DITET Be8@ T 3ed ), ? (B) & T0e30Q JTIHROND JPodfF

QTOFTTTY).
(A) PARS2-10% 33, ,
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(B) PAR 330 -40% =33, DIRNTH).
(C) PARS10-20% =3»3, (D) =3nsd w3, Seudndd, wadyen
LTOTRTF DWOITE wIMER).
(D) PARS0-10% &3, e
11. & NS T TooTwow SO Bed
8. e JFIP.T Zovswr Towodrzod
O '8 )
SR 0088 ARSI et T e
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6.  Which one of the following ecosystem 9. Which one of the following human

has the highest annual net primary activity =~ has  contributed  to-

productivity ? deforestation in north-eastern states of
India ?

(A) Tropical deciduous forest (A) ' industiialisation

(B) Temperature evergreen forest ~ (B) Jhum cultivation

(C) Desert (C) Urbanisation

(D) Tropical rain forest (D), " Maao sinpeing

10. In an area where DDT has been used

7.  Of the total incident solar radiation the extensively, the population of birds
percentage Photosynthetically Active declined significantly because —
Radiation (PAR) captured by the plants (A) Birds stopped laying eggs.

(A) 2-10% of PAR only §9) SO RC e a0, g0t
eradicated.

(B) 30-40% of PAR only (C) Birds became vulnerable to

(C) 10-20% of PAR only predators.

(D) 0-10% of PAR only (D) Many of the eggs laid by birds
showed pre-matured breaking.

8. The historic convention related to 11. Which of the following protozoan

conservation of biological diversity is

also known as (A) Entamoeba
(A) Kyoto Protocol

(B) Montreal Protocol

parasites causes sleeping sickness ?

(B) Trypanosoma

(C) Earth Summit (C) Plasmodium
(D) World Summit (D) Leishmania
Space For Rough Work
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12. Which of the following phyla possess 14. The trees growing in temperature
. : . regions show clear demarcation
body cavity as shown in the diagram NiWten socineood and ' au
below ? wood. This is because
(A) The water stress is more.
(B) The climatic conditions are not
uniform throughout the year.
(C) The climatic conditions are
uniform throughout the year.
(D) The temperature is high.
(A) ‘Posifers 15. Identify the part labelled as ‘M’ in the
(B) Coelent diagram given below : .
M
(C) Annelida
(D) Aschelminthes
13. Testa and Tegmen of the seed coat
represent
(A) Dried Sepals
(B) Dried Petals (A) Kinetochore
(B) Satellite
(C) Dried Integuments
(C) Chromatid .
(D) Dried Tepals (D) Centromere
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16.

17.

18.

Which of these is not an advantages in
Genetically modified crops ?

(A) Reduces the reliance on chemical
pesticides.

(B) Increases the post harvest losses

(C) Increases efficiency of mineral
usage in plants.

(D) Enhances the nutritional value of
food.

Some multinational companies have
exploited the traditional knowledge of
the indigenous people to produce
commercially important bio products,
without their consent. This is an
example for

(A) Bioprospecting
(B) Bioremediation
(C) Biopatent
(D) Biopiracy

In Amphibians and reptiles, the body
temperature changes corresponding to
external temperature. The organisms
which show this kind of response is

termed as —

(A) Regulators

(B) Conformers

(C) Partial Regulators
(D) Thermophiles

19.

20.

Assertion (A): The Monarch

butterfly feeds on poisonous weeds
during its Caterpillars stage.

Reason (R) : It helps butterfly to
become distasteful to its predator.

(A) (A) is true and (R) is its correct

explanation.

(B) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A).

(C) (A)istrue, (R) is false.

(D) Both (A) and (R) are false.

From the given options, identify the
correct combination of population
interactions that correspond to the

symbols given here

Gt = +0

(A) Predation Competition Commensalism

(B) Mutualism Parasitism Amensalism

(C) Parasitism Competition Mutualism

(D) Mutualism Competition Commensalism
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T QoD amTEnen WowoPAToS 23. omsnY 30, Ry oG
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T, BeBreQ, et BITTONG. EReBpICD w8,
emoNas.
(A) SRodar
22. wy G3R0 3F  pedcnY, Bo B) dusex
WBRCOT  ToROCHNE  RREWONIY 4 ; —
QT0BTTON LWAERORD LOBTRY. Foes, s
33 Fosssabay sWaEecd o0k (D) HgFex
maoca WHBDIIY, oD 3
FRDOIRND,. €3I DY, mt‘iﬁ 25. EcoRI 3£, ¢t R00@08wExwE DNA
Jongiod; TS dgRq, €508, TSR OO
WYRLTOTE ARTTE XeT S o 22eodd (A) SACGAATTCAT?'
wif FOT Ded. 3ITGCTTAAGTAS'
(A) o (B) 3'ACGAATTCATS'
STGCTTAAGTA3'
(B) 3, Cnegs (C) STGCTTAAGTA3
(C) ATHO™ 3'ACGAATTCATS'
(D) 5'TACTTAAGCA3'
@) Py, 3IATGAATTCGTS'
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21. Identify the incorrect statement with 23. In cloning vectors, antibiotic resistant
genes are helpful for
reference of Biocontrol agents :
\ (A) Selection of recombinants
(A) They help to increase the use of (B) Cleaving of vector by REN
synthetic pesticides. (C) Transfer of foreign gene to the
(B) They do not affect non-target host
pests. (D) Making the host cells competent
(C) They do not show any negative
A B 24. A student while extracting DNA from
impact on crop plants. s ol SKngus reqii
(D) They are significant in treating enzyme to break open the
cell wall.
ecologically sensitive area.
(A) Lysozyme
(B) Chitinase
22. A Farmer has applied chemical (C) Cellulase
fertilisers in his crop field for many (D) Pectinase
successive seasons. In the next season,
the crop growth was poor as soil lost 25. Identify the DNA sequence which can
its fertility. Suggest the suitable micro- be cut using EcoRI.
organism that replenishes the fertility (A) S5'ACGAATTCAT3'
of soil in his field. 3'TGCTTAAGTAS'
(B) 3'ACGAATTCATS'
(A) Nostoc
S'TGCTTAAGTA3Z'
(B) Spirogyra (C) S'TGCTTAAGTA3'
(C) Spirulina 3'ACGAATTCATS'
(D) STACTTAAGCA3Z'
(D) Chlorella 3ATGAATTCGTS'
Space For Rough Work
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27. genQoy SR BBVFR KNV, (B) IgA
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(A) Ddeod, 8,3 Dmx SoXowoQ  deennivon  SOWImS,
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©) xm owr SRR BROCIRN edeorzzes 2
(D) ey, DeoX gn 89
s (B) owoon'
28, @ NIV, SN Heododsy o, R
S (D) e
(A) SRRRCIR .00 1, 8e00R-
sastdvinibi dadk 31. GLUT-4 p,btea"s moctoraeso ?
(B) don' [IF o ddecsBos (A) sedocne  wirt riyecy
Horwesdrt SomoroRHcDd.
UOERTOS Beent . J
_ (B) wo30f wedoess  wng doden
(C) HIV o Reot> 2ed 823008 do st
. (C) #r9on fox SRRIT.
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26. The brain capacity of Homo habilis 29. A person shows symptoms like
Sneezing, Watery eyes, running nose
A) between 650 cc — 800
(4) i g it and difficulty in breathing, on exposure
(B) 1400 cc to certain substances in air. Which type
of antibody is produced during such
(C) 1800 cc ¥
condition ?
(D) 900cc (A) IgE
(B) IgA
e : (C) IgG
27. In Bougainvillea and Cucurbita, the D) IgM
axillary bud is modified into thorn and
tendril respectively. This is an example 230 N man v aufitiog Som el
of illness like depression and insomnia.
(A) Divergent Evolution Identify the drug which is normally
: used as medicine in such cases.
(B) Convergent Evolution (A) Lysergic Acid Diethylamides (LSD)
(C) Co-evolution (B) Heroin
(D) Micro Evolution (C) Morphine
(D) Nicotine
28. Identify the incorrect statement. 31. What is the function of Protein
(A) Pneumonia is a bacterial disease. GLUT-4?
A) Enabl rt int
By Rirciniia el . (A) :;a es glucose transport into
cells.
© H_W is transmitted by mosquito (B) Functions as intercellular ground
bite. substance.
(D) Cancer is a non-infectious (C) Acts as an enzyme.
disease. (D) Fights infectious agents.
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mwmm. 030V TFTIEEY,
i 3 weRess By WprorrteeRen e
R, rert goRonicd ¢339 3.
ii.  womD DS FORFRIRY 35. Zoood VATV 3,000,
AR O PoR0RA0T B ookt o) 8§ cdnmowmen
LT CROWRWEBIT). WVREROTN S T,3,030009, 145 5600
i, oo AW, evEed  ,0hond, Sl wWFoINA 102 eara0 Yoo a.;,
SeTTON LONCINTLIEE. o8 @ DRRBCRZE. w@S RQ
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A) iDRii (A) 0.7
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32. Cells in the quiescent stage (G) 34. During chemiosmotic synthesis of ATP
(A) show indefinite proliferation. in photosynthesis :

(B) remain metabolically active (A) The proton gradient is not

(C) always become cancerous required.

(D) remain metabolically inactive (B) The protons accumulate within

the lumen of the thylakoids.

33. Consider the following statements (C) The protons accumulate in the
i, ii and iii regarding criteria for intermembrane ~ space  of
essentiality of the nutrients in plants : chloroplast.

i.  The presence of elements is must (D) The protons accumulate in the
for plants to complete their life intermembrane space of
cycle. mitochondrion.

ii. The role of the element can be
replaced by another element. 35. When tripalmitin is used as respiratory

iii. The element must be directly substrate in aerobic respiration, the
involved in the metabolism of the process consumes 145 molecules of
plant. Oxygen and releases 102 molecules of

Choose the correct statement/s : CO,, then RQ value would be

(A) iandii (A) 0.7

(B) iiand iii (B) 1.0

(C) iandiii (C) 0.5

(D) iii only (D) 14
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36. Identify the enzyme that catalyses the 38. The oil content and quality of a
step labelled as ‘M’ in the given groundnut variety was improved by
Schemati resentati f

< o ® 2 plant breeding technique. This is an
Replication of retrovirus.
example of
St s (A) Biomagnification
(B) Biofortification
€,)  Animalcell
fj,"a] = (C) Bioremediation
_/l_/ M (D) Biodegradation
Viral DNA @
(A) ~RNA polymeraee 39, Microbes like Spirulina can be good
(B) DNA ligase alternate to the conventional sources
(C) Reverse transcriptase of proteins for human nutrition,
(D) Recombinase because ...
(A) they give more biomass in less

37. In animal breeding, the maximum time.
genetic variations can be achieved

(B) they are produced using synthetic
through

fertilisers.
(A) Outcrossing
(B) * Ciosdtateding (C) their proteins are different from
: plant proteins.
(C) Inbreeding
(D) Interspecific hybridization ()’ they hove Jgh Shes confent.
Space For Rough Work

Biology

A-1

- " .
ll‘

T

[}
(=]
legedunia:
India’s largest Student Review Platform



0. VY B NS OumE, RS | 4L gons  dvsddad  Zosnesy

TOTOOVE e ZoeT  $,03n3s QUL 8 SINS Todedd W3O M
LY rINTR) LN, DR N 20 SIS
“h
wesesriod BoIneRy T Ina.

i Xeg, doeng 3 odisd

— Zygote
i, BenvY B T evss divided
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D) iR
* N eso08ch o3
Space For Rough Work
Biology 18 A-1

[ ]
gcollegedunlaa
India’s largest Student Review Platform

T



40. Consider the following morphological, 41. In the following diagrammatic
. biochemical or ph}’SiDlUgiCﬂ.l l'ﬂpl‘ﬂ'ﬁﬂlltﬂtiﬂﬂ Sh'DWing stages of
embryonic development, identify the
characteristics of plants.
type of growth phase labelled as
i.  Presence of hairy leaves. Mand N :
ii. Production of more nectar in ) — Zysote
: divided
flower.
iii.  High sugar content in plant parts.
iv. Presence of higher aspartic acid
concentration.
Choose the correct combination of
statements which give natural
resistance to plants against insect (A) Both M and N are arithmetic
pests : phases.
(B) Both M and N are geometric
(A) iandii :
phases.
(B) iiandiii (C) M is geometric phase and N is
(C) iiispdiv arithmetic phase.
| (D) M is arithmetic phase and N is
D) iandi
e geometric phase.
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C oo SmoRenG  CS, Swd w8y
(B) AB rboad o8S®) Zeodwds
BoBv deesdnd Wivsedrt, wgsOrmd
oo A roas  o¥SR
SRBTT. GRNethEs. & waossmnen
C) 203 ewRiors® $etndxf 303k
i i ” ToFperaTL 100 oF Cord3.
e, Rh™* 0833 monie sool
RE™  ofSiy  2ec0qd v s i
(D) t:aadmekwedrahm‘ A 30
C) ssdgxst
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42. Indigestion of fats in humans may be 44. In blind spot of the human eye
an indication of (A) Only cones are absent,.
(A) Under-secretion of saliva
(B) Only rods are absent.
(B) Under-secretion of amylopsin
(C) Intestinal ulcers (C) Both cones and rods are absent.
D) Inflammation of li
©) sk A (D) Both cones and rods are present.
43. Choose the correct statement from the
following : 45. A boy after attaining sexual maturity
(A) Histamine, Serotonin  and St Sutiler . provilic -aiminil: 8
Heparin are secreted by
Sesidhin facial and axillary hair, aggressiveness
B) Person with blood group AB can and low pitch of voice. These changes
donate blood to person with are attributedto _ hormone.
blood group A.
(A) Testosterone
(C) Erythroblastosis foetalis may
result when foetus is Rh—¢ and (B) Glucagon
mother is Rh*ve
(C) Estrogen
(D) Atherosclerosis is often referred
as anginapectoris. (D) Secretin
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46. 83 TINS TIORRS, IV, FOBROOYE) 48. mAeepn Hed INFY*  InRAT
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eYne F, Zo33cs) 2030 30 Zosoes,
wdoocsd. F, Zo33c0e), 8
DD Bocdeed  sewnd Bedd

TR,

(A) MBS BeF esFe03R

(B) Beooreoeosn

(C) Sestnegedodn s
(A) 98.7%
(D) ®eer seedpesindodn B) 37.2%
(C) 62.8%
D) 1.3%

47. 8 R BT  SIeaFrZodond
49. TNRIII ;sosq,i DFeRBoD,

POERGY, R edomr PP TRTI, WYRoNOS NS XoFeIndY o
pslel. oo SRS
SR b @?;m m:amz:?
(A) XX-XY (A) —
(B) ZZ-ZW (B) —O
) XX-X0 ©) raa®
(D) XX-XXY (D) O
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46. Identify the odd one among the 48. In Morgan’s experiment with

8 Drosophila, when yellow bodied white
following disorders : eyed female was crossed with brown
. : bodied red eyed male and their F,
(A) Sickle-cell Anaemia progeny were intercrossed. What was

the percentage of recombinants in F,
(B) Thalassemia

generation ?
(C) Haemophilia (A) 98.7%

(B) 37.2%
(D) Phenyl Ketonuria

(C) 62.8%

(D) 1.3%

47. From the Chromosomal Complements
49. In the following symbols, used in

given below, identify the one which human pedigree Analysis, identify the
symbol that denotes consanguineous

shows female heterogamety. ating,
A) XX-XY
@ | O
B) ZZ-ZW
o O
(C) XX-XO ©) 740
D) XX-XXY D) O
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50. S FUNS Fudo,end® RONVY, ARV
DNA 638, 573, 80 1achsc 2

(A) eags
B) I
©) Funera*

D) oo
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RAUWRTINTO 2 eTEREBNFRY, TOTOSR.

Spermatogonia

(A) P — 53,5008 I, FedoeRes
Q — Qgecd =, r&irae:gjts' a
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(B) P- Q3 ?imﬁrtﬁm%w‘
Q - T, B8 BN, FEReH
R — Qecreaonsd
S — T3, FEIEL
(C) P - Qecmreaonsd

WG JOeSF DT0E CIRTYKO 2 Q — 00, B0
R — Q3ecdd Rz, FedneRes |
(A) O, 18 |
S — 0, P 3, FedReR e
(B) o014 (D) P - Q3ecd 33, Fednediis’ |
— R, FEITTISL |
R — QecFeaonsd
(D) 2,029 'S — 0, P B, FEdReRES
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50. Which of the following Nitrogen bases
is found only in DNA ?

(A) Adenine
(B) Guanine
(C) Cytosine

(D) Thymine

51. The

Seminiferous tubules are

nourishing cells in the

(A) Leydig cells
(B) Spermatogonial cells
(C) Follicular cells

(D) Sertoli cells

52. If in a normal Menstruating woman,
menses occur on 5" April, what will be
the expected date of Ovulation ?

(A) 18" April
(B) 14" April
(C) 10" April

(D) 29" April

53. Identify the cells represents as P, Q, R

and

S in the given schematic

representation of spermatogenesis.

(A) -

(B)

©)

(D)

Spermatogonia

vy

L

P — Primary Spermatocyte

Q — Secondary Spermatocyte
R — Spermatids

S — Spermatozoa

P — Secondary Spermatocyte
Q — Primary Spermatocyte
R — Spermatozoa

S — Spermatids

P — Spermatozoa

Q — Spermatids

R — Secondary Spermatocyte
S — Primary Spermatocyte

P — Secondary Spermatocyte
Q — Spermatids

R — Spermatozoa

S — Primary Spermatocyte
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54. The method of natural contraception 56. Plants like Marchantia and Funaria
which requires correct knowledge of produce gametes by mitosis, because
Menstrual cycle is (A) Plant body is haploid.

(A) Lactational Amenorrhoea (B) Gametophyte is diploid.
(B) Coitus interrupts (C) They are gametophytes.
(C) Periodic Abstinence (D) They are dioecious.
(D) IUDs - Intrauterine Devices
§7. Identify the asexual reproductive

§5. A childless couple visit Assisted structure ‘M’ in the following
Reproductive Technologies (ARTS) diagram :
centre to get assistance to have a child.

On diagnosis, it was noticed that there
was low sperm count in the male
partner. Which of the following
strategy of ART is most suitable in this
case ?
(A) Artificial Insemination (Al)
(B) In vitro Fertilisation (IVF)
(C) Gamete Intra-Fallopian Transfer
(GIFT)
(D) Zygote Intra-Fallopian Transfer
(ZIFT)
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58. In some plants, stigma and anther 60. Identify the correct order of steps
MAbE A Sl s bocae involved in Artificial hybridization in
(A) it facilitates self pollination. ol
(B) it facilitates cross pollination.
(A) Rebagging > Artificial
(C) it attracts pollinators.
' pollination — Bagging —
(D) it prevents cross pollination.
Emasculation
59. Now-a-days agricultural practice is (B) Bagging —> Artificial poilination
to purchase hybrid seeds every year.
Which of the following strategies can (C) AEN o aiaesen.
be employed to overcome this Emasculation —> Rebagging —
problem ?
Bagging
(A) Production of Apomictic seeds
(D) Emasculation — Bagging —
(B) Parthenocarpy
d Artificial pollination -
(C) Synthetic seeds -
Rebaggin
(D) Conventional plant breeding .
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